
File: Version: 1.0       Date: 9th Dec,2010

ab
lePos Part code   

QTY
Part code  

Electric Grass Trimmer----N1F-GT-250/350-B

u
m

-a
b

le

Remarkg
e-

ab
le

English 

1 1401001 GT014-01 cable 1

2 1401002 GT014-02 cable sleeve 1

3 B400023FW006 GB/T845-1985
Cross recessed pan head 

tapping screw ST4.2x13 2

4 1401003 GT014-03 cable fixture plate 1

lo
sa. No (Factory)

QTY
(SUMEC)

C
o

n
su

Remark

d
am

ag

5 1401004P3C GT014-04 left handle 1

6
1401005P1795

C GT014-05 switch 1

7 1401006 GT014-06 capacitor 0.22μF 1

8 B220006W006 GB/T6170-2000 Hexagon nuts, style 1 M4 2

9 B620002W006
GB/T9074.18-

2002

Cross recessed pan head 
screw and single coll spring 

lock washer assemblles 
ST2.9x16 5

10 B320050W006 GB/T818-2000
Cross recessed pan head 

screw M4x30 2

11 B509015W006 GB/T848-2002 washer 4 2

12 1401007P3C GT014-07 right handle 1

13 1401008 GT014-08 extension tube 1

14 1401009 GT014-09 internal cable 1

15
1401010P1795

C GT014-10 knob 1
1401011P1795

116 C GT014-11 locking sleeve 1

17 B222009W006 GB/T6172.1-2000 Hexagon thin nuts M8 1

18 1401012R9005 GT014-12 additional handle 1

19
1401013P1795

C GT014-13 additional handle cover 1

20 B400025FW006 GB/T845-1985
Cross recessed pan head 

tapping screw ST4.2x16 7

21 1401014 GT014-14 motor 1
22 1401015 GT014-15 spring 122 1401015 GT014 15 spring 1
23 1401016R9005 GT014-16 spool 1 separately offered
24 1401017R9005 GT014-17 spool cover 1
25 1401018P3C GT014-18 right motor housing 1
26 1401019R9005 GT014-19 guard 1
27 1401020 GT014-20 blade 1

28 B620005W006
GB/T 9074.18-
2002

Cross recessed pan head 
screw and single coll spring 

lock washer assemblles 
ST4 2x9 5 128 B620005W006 2002 ST4.2x9.5 1

29 B400023FW006 GB/T845-1985
Cross recessed pan head 

tapping screw ST4.2x13 2
30 1401021 GT014-21 flower protection ring 1
31 C GT014-22 insulation cap 1

32 B400004FW006 GB/T845-1985
Cross recessed pan head 
tapping screw ST2.9x9.5 1

33 C GT014-23 turn handle 1
34 1401024 GT014-24 spring 1
35 1401025 GT014 25 tube cover 135 1401025 GT014-25 tube cover 1

36 B400004FW006 GB/T845-1985
Cross recessed pan head 
tapping screw ST2.9x9.5 1

37 1401026P3C GT014-26 left motor housing 1

38 B400023FW006 GB/T845-1985
Cross recessed pan head 

tapping screw ST4.2x13 6

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet



Electric Grass Trimmer----N1F-GT-250/350-B
File: Version: 1.0 Date: 9th Dec,2010

EXPLOSIVE DRAWING

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet



File: Version: 1.0

Electric Grass Trimmer----N1F-GT-250/350-B

ee

English 

39 1401027 GT014-27 brush holder 2

40 1401028 GT014-28 brush 2

Pos
. No

Part code   
(Factory)

QTY
Part code  
(SUMEC)

C
o

n
su

m
-a

b
le

d
am

ag
e-

ab
le

lo
sa

b
le

40 1401028 GT014-28 brush 2

41 1401029 GT014-29 rear cover 2

42 B220006W006 GB/T6170-2000 Hexagon nuts, style 1 M4 2

43 B700436W006 GB/T 276-1994
Deep groove ball bearing 

626Z 1

44 1401030 GT014-30 rotor 1
Deep groove ball bearing

45 B700435W006 GB/T 276-1994
Deep groove ball bearing 

627Z 1

46 1401031 GT014-31 stator 1

47 B519002W006 GB/T859-1987
Single coil spring lock 

washers 4 2

48
B504004HW00

6 GB/T97.1-2002 Plain washer 4 2

C d h d
49 B320040W006 GB/T818-2000

Cross recessed pan head 
screw M4x55 2

50 1401031R9005 GT014-31 front cover 1

51 1401032R9005 GT014-32 fan 1

52 1401033 GT014-33 rivet 2

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet



Electric Grass Trimmer----N1F-GT-250/350-B
File: Version: 1.0 Date: 9th Dec,2010

EXPLOSIVE DRAWING

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet


	Ersatzteilliste 4.074.606 GT 5127-1
	Ersatzteilliste 4.074.606 GT 5127-1-1
	Ersatzteilliste 4.074.606 GT 5127-2
	Ersatzteilliste 4.074.606 GT 5127-3



